WERE 1 THIIOBIFEE T 28 %

n=3
A °-THCV-0
A °-THCV-0O-acetate

n=4
A °~-THCB-0
A °-THCB-0O-acetate

n=6
A °-THCH-0
A °~-THCH-O-acetate

n=17
A °~THCP-0
A °~-THCP-O-acetate

n=8
A ?-THCjd-0
A?-THCjd-0-acetate




WERE 2 TR IOBIEE S 2E %

n=3
A 8 -THCV-0
A 8*-THCV-0O-acetate

n=4
A ®-THCB-0
A 8-THCB-0O-acetate

n=6
A ®~THCH-0
A 3 -THCH-O-acetate

n=17
A 8=THCP-0
A 3-THCP-O-acetate

n=8
A ®-THCjd-0
A ®-THCjd-0O-acetate




WERE 3 THIIOBIEE T 28 %

I RN
0]
n=3 OJ\
HHCV-0
HHCV-0—-acetate
O
n=4 O)J\
HHCB-0
HHCB-0O—-acetate
@]
n=6 OJ\
HHCH-0
HHCH-0O-acetate
O
n=7 OJ\
HHCP-0
HHCP-0O—-acetate
O
n==8 OJ\

(HHC-0ctyl)-0
(HHC-0ctyl)-0O-acetate




